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KEY 6 @ (a+b)=a’+2ab+b?

TN @2 (a—b)r=a’—2ab+b?
9 RoOXZERHEIX,
(1) (4x—1)? (2) (x+3y)?

BEl (1) (dx—1)2=“x)?—2-4x-1+12=16x2—8x+1
(2) (x+3yP=x*+2-x-3y+(3y)>=x+6xy+9y*

11a KOXEERBE L. 11b 3 s+ Eme L.
(1) (x+4)? (1) (a—6)?

2) (2x—1) (2) (—2a+3)

(3) (3x—4y)? (3) (%a—b)z
KEY 7 @ (a+b)a—b)=a'—b?
FAENT
10 RoOAXZERHE X,
(1) (x+9)(x—9) (2) Bx—2y)3x+2y)

2 & (1) (x+9)(x—9)=x2—92=x2—81

(2) (Bx—2v)(3x+2y)=(3x)*—(2y)?=9x2—4y?* 4(Bx—2y)(B3x+2y)=(3x+2v)(3x —2y)

12a =3 wotrEMe L, 12b =3 wotzrmE L,
(1) (x+3)}x—3) (1) (7Ta—1)(7a+1)

(2) (2x+3y)(2x—3y)

(2) (—3x+4y)(B3x+4y)
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RELTN

KOX % REHE X,

(2) (x+5y)(x—3y)

S 1) (x—Dx—7=x2+{(—D)+(—D}x+(—4)(=7)=x*—11x+28
2) (x+5y)(x—3y)=x2+{5y+(—3y)}x+5y:(—3y)=x*+2xy—15y*

13a =3 notrEme L. 13b 3 wor+REEE X,
(1) (x+2)(x+5) (1) (a+6)(a—17)

(2) (x—3)x+5) (2) (x—6)(x—4)

(3) (x+6a)x+3a)

(3) (x+3y)(x—9y)

4) (a—2b)a+7b)

4) (a—5b)(a—4b)
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